3.1 In Class Problems

3. f(z) = 186.5 is a constant function, so its derivative is 0, that is, f'(z) = 0.
5 flz)=2"—4r+6 = f(z)=32"—4(1)+0=32" -4

L) =2(t*"+8) = Ff()=3t"+8) =14t*"+0)=¢
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M. G(z) =z — 2" =a? -2 = G(z)=12a"V? 2" = N 2e”
13. V(r) = 27r? = V'(r) = 3x(3r") = 4mr?
15. F(z) = (22)° = (1)°2° = £2° = F'(a) = & (5z%) = &=*
17. y = 4n? = ¢ = 0since 4=? is a constant.
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19. y = w — 32 —|—-‘l:r:1‘(2 —|—3:r_1f2 _—y
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23. 2z = % + Be¥ = Ay_m + Be¥ = = —l(]Ay_11 + Be¥ = —% + BeY
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25 y=ua"+2" = y =4z°+2e" At(0,2), 3 = 2 and an equation of the tangent line is y — 2 = 2(z — 0)
or y = 2x + 2. The slope of the normal line is — 3 (the negative reciprocal of 2) and an equation of the normal line is
y—2=-2(z—0)ory=—2z+2

M flz)=2"—42"+5z = f(x)=32"—-8z+5 = f'(z)=6x2z—8
f'(#)>0 = 6z—8>0 = x>z fisconcaveupward when f”(z) > 0; thatis, on (3,0).
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